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Question Number : 1 Question Id : 1056151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The domain of the real valued function f(x)= \/“ff +i/x— 64 1S
—x—afx+

Options :

1.+
-3 2

(-3}
2. ®

[-4.4]
3. %

3 2

44

4, %

Question Number : 2 Question Id : 1056152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If [x] represents the greatest integer <x, then the range of the real valued function

f(x)= : 18

[Jc]l +[,r] -2




Options :

(—o0, 0] U G m}

ol
(. 0) U [2.9)
(0. 2]

Question Number : 3 Question Id : 1056153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

a 3 5 b 1 4
Iet A=|S =1 3 and B=|4 ¢ 1|. If the trace of A 15 —4 and
2 3 =4 = 0 |
—5 & 17
AB=|-3 10 25| then a+b+c+d=
28 -8 3
Options :
5
1. %
—q
2. %

3.¢



Question Number : 4 Question Id : 1056154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 | 1
a> B e =
3
a B &
Options :

a’b’(a=b) +b’c*(b—c)+ ’a’(c—a)

1. %

a’ (bj —CS) - 53(63 —a3)+ c’ (a3 —EJS]
2.

a3(53 —f‘l] + b’ (.Cl —{J2)+ c (al —bz)
3. %

ab(a3 —bs] - 56(5)3—03)4— 60(03 —(13)
4.%

Question Number : 5 Question Id : 1056155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

7 o &
Let a,fB,y be real numbers. If 4=| g 1 -11| 1s a 3x3 matrix satisfying
-5 y 19
5 (290
A|—13|=| —119 |. then (adj 4)" +adj 4™ =

11 210



Options :

A
1. ®

4
2. %

24
3. %

24
4.+

Question Number : 6 Question Id : 1056156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L 2 3
If (aBy)|2 3 -5|=(352)thena’+p° +y’ =
I & 5

Options :

8
1.+

—6
2. %

6

3. %

—10
4 %

Question Number : 7 Question Id : 1056157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

J(=3+40)(8+6i)=

Options :

+(1+2i)
1. %

+(3+i)
2. %

+(1+ 7i)
3.9

+(7-1)
4, %

Question Number : 8 Question Id : 1056158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If -J§+J
3

=1, 2022 <m <2029, then m =

Options :
2022
1. #®
2024
2. ®
2028



2026

Question Number : 9 Question Id : 1056159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 1.w,@" are the cube roots of unity, n €N and n > 2 then the least value of » such
that 1+@ i1sarootof x"—x=0 1s

Options :
=
s
1. #
5
2. ®
~
3.¢
4
4, &

Question Number : 10 Question Id : 10561510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If A:{xelﬁf'-\fxg—RxHSEIH‘.} and B:Jlxeft%_.f L < x_ﬁl},ﬂlﬂl ANB=

2x-5 2x-1

Options :

¢



Question Number : 11 Question Id : 10561511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the extreme value of 3x—2x" +1 is k then the set of all real values of x for which

kb +2x+1>0 is

Options :
&)
2
1. %

—a0 l w (1 )

s 2. s
2. &
(. )
3.¢
17
—UD', ——l

(=%

4. %



Question Number : 12 Question Id : 10561512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If . . y are the roots of the equation x° —5x” —2x+24 =0 then pr + ’;r {: - o
a Y
Options :
244
1. ®
-1
6
2. %
61
3. %
61
6
4.

Question Number : 13 Question Id : 10561513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a.f.y are the roots of the equation 3x° —26x°+52x—24=0 such that
a, B,y are in geometric progression and a < f< y.then 3a+2f0+y =

Options :



3.9

Question Number : 14 Question Id : 10561514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let p(x) bea quadratic polynomial with real coefficients. If p(x) = 0 has only purely

imaginary roots, then the zeroes of the polynomial p[ p(x)] are
Options :

only real numbers

1. %
only purely imaginary numbers
2. %
only rational numbers
3. %
only complex numbers of the form a + ib with a = 0and b= 0
4.

Question Number : 15 Question Id : 10561515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If @, f,y are the roots of the equation 4x’ +12x* —7x+165=0 and a+5, f+5, y+5

are the roots of the equation ax’+bx* +cx+d =0 then the product of the roots of the
second equation 1s

Options :
27
1. ®
0
2.¢
-3
3. %
3W5+4
4, %

Question Number : 16 Question Id : 10561516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of 3—digit odd numbers divisible by 3 that can be formed using the digits
1. 2. 3.4, 5, 6 when repetition is not allowed 1s

Options :

18
1. ®

21
2. ®

24



(3%
e}

Question Number : 17 Question Id : 10561517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the items of List -I to the items of List -II

List-1 List-1I
A) The number of ways of I) n. n.
I+ Ot it L

not selecting (n — r) things

from » different things

B _ II
) (n—r+l)- n(.’,_, ) (r+])-ﬁCf,_+]
C) The number of ways of II) 7
r - i

selecting atleast (n — r) things
from » different things

D) : IV) . 7. n..
(n—r) [(H—IJCH HH_”CrJ 2" 1-n— C,—..—C,

V) s

The correct match 1s:

Options :

I II IAY I



V III I II
3.¢
A C D
I A% IV I1I
4.%

Question Number : 18 Question Id : 10561518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3

11
J and the coefficient of
X

If L and M are respectively the coefficient of x' in (ax+ b

g 11
x' in [hx2 + E} then L +M=
x

Options :
12
e o Egs b
coefficientof x™ in| ax+—
X
1. #
12
1 % ) 5 D
= | coefficient of x®in| ax® +—
a X
2.

1

a| coefficient of x™*° in[m;+ )
™

3. %



11
. . , b
b| coefficient of x* ]11((?.1." i
X

Question Number : 19 Question Id : 10561519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If il : e ' + + u - then A+B+C=

Options :

1
. %
0
2. %
- |
3.
5
4. %

Question Number : 20 Question Id : 10561520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e A x+ g
A :%f B+C3 D thén A-+-B+C+ D=
+2) x“+1 x"+2

Options :

4k

1. ®



)

2. %

0
3. %

1
4.

Question Number : 21 Question Id : 10561521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

: 16 : 5
If A and B (A > B) are acute angles, sin(A—B) = = and sinB = = then
tan A+cotA =
Options :
25
12
1. ¢
12
25
2. %
5
T
3. %
12
5
4. %

Question Number : 22 Question Id : 10561522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If tan Az%, then sin 4A=

Options :

.

27
1. ®

120

169
2.

144

169
3. %

16

27
4, %

Question Number : 23 Question Id : 10561523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 c0s45 40856 +c0s 58" —c0s 66 _
\/ECOSZS 0529 sm33

Options :

2.¥



Question Number : 24 Question Id : 10561524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 8= % and x = log C{]t(§+5} . then cosh x =

Options :

N

1.
-2
3

2. %
3
2

3. %
—/3
2

4.%

Question Number : 25 Question Id : 10561525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2cosh(x+y)sinh(x—y)+sinh2y=

Options :



sin h 2x

1. ¢
sinh2x+sinh2y
]
-
2. %
sinh2x—smmh2y
2
3. %
cos h 2x
4.%

Question Number : 26 Question Id : 10561526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e
P

-

+(b—c) cos’

In a triangle ABC, if (E)—J—(’)z sin’ -

-~
s

=K(1-cos2A). thenK =

J

Options :

R:!
1. #®

2R*
2.9

R
3. %

2R
4. %

Question Number : 27 Question Id : 10561527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In a triangle ABC.1fb=7.¢c= 43 and A= % then asinBsinC=

Options :

V13
)

1. ®
13
743

2. %
12
J13

3. %
743
13

4.9

Question Number : 28 Question Id : 10561528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In triangle ABC, if BC i1s the hypotenuse, then r, +r, =

Options :

et
1. ®

a
2.

r—r



2(R+7)

Question Number : 29 Question Id : 10561529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a triangle ABC, D and E divide the sides BC and CA in the ratio 2:1 respectively. If
P 1s the point of intersection of AD and BE then the ratio in which P divides AD 1s

Options :

21
1. ®

34
2.

4:3
3. %

1:2
4. ®

Question Number : 30 Question Id : 10561530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the points with position vectors i—2j+3k.2i+3j—4k.—3i+j—5k and

ai—2 j+4k are coplanar then a =

Options :

-4
19



42

19
2.
—42
19
3. %
4
19
4. ®

Question Number : 31 Question Id : 10561531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If P is a point on the line parallel to the vector 2i—3j—6k and passing through the

point A whose position vectoris i+2j—2k and AP = 21. then the position vector of P
can be

Options :
6i—9j—18k
1. %
6i+9j—18k
2. %

—5i +11j+16k
3.9

5i—11j+16k

Question Number : 32 Question Id : 10561532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Let a be a vector in the plane containing vectors b=i+2j+k and c=2i— j+k. If a

is perpendicular to i+ j+ 3k and its projection on b is 3+/6, then ‘a

&

Options :

186
1. ®

36
2. %

128
3. %

264
4.

Question Number : 33 Question Id : 10561533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The cartesian equation of the plane passing through the point (1,-2,3) and

perpendicular to the vector —i+2 j—3k.1s

Options :

—x+2y-3z=14

1. ®

x—2y+3z=14

x+2y-3z=14



—x+2y+3z=14

Question Number : 34 Question Id : 10561534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let a=i+ j+k, b=i-2j+k c=i+3j-2k.d=2i+j—k be four vectors and let
I=b-c and m=c-a. Then [m5+f5 b E}:

Options :

79
1. ®

—63
2.9

0
3. &

1
4, %

Question Number : 35 Question Id : 10561535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If x is the mean of » observations x,.x,.....x, then the mean of the absolute deviations

of these observations from x 1s

Options :

the variance of the data



the mean proportion of the data

2. 8

the standard deviation of the data
3%

the mean deviation of the data
4.¥

Question Number : 36 Question Id : 10561536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A cube having edge of length 5 cm is painted on all faces and then it is cut into equal
cubes of unit volume. A small cube is selected at random and found that a face of it is
painted. then the probability that two more faces of it are also painted is

Options :

2

125
1. ®

4

49
2.

1

8
3. &

&

125
4 %

Question Number : 37 Question Id : 10561537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

A pair of dice is thrown twice in succession. The probability of getting prime numbers on
both the dice in first throw and composite numbers on both the dice in second throw is

Options :
1
216
1. ®
1
16
2. #
3
36
3.¢
1
9
4, %

Question Number : 38 Question Id : 10561538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 balls are drawn one after the other without replacement from an urn containing 4 red.
5 blue and 6 yellow balls. The probability of getting three different coloured balls 1s

Options :
12
91
1. %
24
91

2.¥



o0

g 30 BN

e

Question Number : 39 Question Id : 10561539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two balls are drawn at random from a bag containing 5 black balls and 3 white balls.
If the random variable X denotes the number of white balls drawn. then the mean of X
15

Options :

o0 | 2 | =

| w2

3.9

oo | e

Question Number : 40 Question Id : 10561540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the mean and variance of a binomial distribution are 4 and — respectively, then

| I

P(X = 2)=
Options :
20
243
1.v¥
40
243
2. #
28
729
3. %
o
27
4 %

Question Number : 41 Question Id : 10561541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let A(5.-3).B(3.-2).C(—1.5)be three points. If P is a point satisfying the condition
PA’ +2PB’ =3PC”. then a point that lies on the locus of P is

Options :



Question Number : 42 Question Id : 10561542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When the coordinate axes are rotated about the origin in the positive direction through
T . . 2 2 3
an angle 7 if the equation 49x” +25y” =1225 is transformed to px* +gxy+ry’ =t

and the G.C.D of p,q.r. tis 1, then

Options :

{p—q+r—32)2 = 4t

. %

(p—q—r+12]2 =]
2. %

[erqur—l:S)2 =3
3.¢

(—p—r;i.r-l—r+l?~)2 =1
4. %

Question Number : 43 Question Id : 10561543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Let the slope of a diameter AC of a circle of radius 25 units be —. If (3. 2) is the centre

| L

3

. XX
of the circle. A=(x,y,) and C=(x,,y,) then == =
Wy,

Options :

[a—
T

[
)

I
[
)

]
)

—
T2l

4.9

Question Number : 44 Question Id : 10561544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. . X V P S .
If @ is the acute angle between the lines —+==1, —+==1 then sin &=

a b b a

Options :

2ab

a5

(J—b‘
a+b



2ab
3. %
a’ —b*
a’ +b’
4.

Question Number : 45 Question Id : 10561545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the line x—y+1=0 cuts the lines 2x+2y+3=0 and 3x+3y+2=0 at the points
A and B respectively, then AB =

Options :

1. %
|
62
2. &
3
\g
3. %
5
643
4. %

Question Number : 46 Question Id : 10561546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the incentre and the circumcentre of the triangle formed by the lines x =2,
4x+3y+7=0 and y =3 are I and S respectively. then IS =

Options :

th

LN

2.

Question Number : 47 Question Id : 10561547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ax® —4xy—2y* =0 represents a pair of lines. If @ is the angle between these lines.

1 ; ;3
cos & =— and the possible values of ‘@’ are @, and a, (¢, < a,) then a, +3a,=

>
Options :
11
1.v
10
2. ®



Question Number : 48 Question Id : 10561548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let L1. L, be the lines represented by the equation 4x® —5xy+3y° =0. Let L3, L4 be

two lines passing through the point (4, 3) such that L3 and L4 are perpendicular to L;
and Lo respectively. If the combined equation of Lz and L4 1s

ax® +2hxy +byv? +2gx + 2 fi+¢=0. then af +bg +ch=

Options :

144
1. %

66
2. ®

78
3. &

216
4.

Question Number : 49 Question Id : 10561549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The equation x° — y” +ax+b=0 represents a pair of lines for the ordered pair (a,b)=

Options :

(2,6)



2. %

(4.8)
3. %

(6.9)
4.9

Question Number : 50 Question Id : 10561550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A circle passes through the points (1, 2). (3. 4). I its centre lies on the line x— y+3=0,
then its radius 1s equal to

Options :

4
1. #

3
2. %

1
3. %

2
4.

Question Number : 51 Question Id : 10561551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A line drawn through the point A(5,7) cuts the circle x* +y*=36=0 at the points
Pand Q. Then. AP-AQ=

Options :

110
1. ®

60
2. &

38
3.¢

12
4, %
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Let P be any point on the circle x* + y* —2x—1=0 and C be its centre. Let AB be the

chord of contact of P with respect to the circle x*+ y* —2x=0. Then the locus of the
circumcentre of the triangle CAB is

Options :

2x" +2y" —dx+1=0

X +y —4x+2=0

x>+ y—4x+1=0
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If a circle C passing through (4,0) touches the circle x*+y’+4x—6y—12=0

externally at the point (1,—1). then the radius of C is

Options :
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If the circles C,:x"+y"+2x+4y-20=0, C,:x"+y*+6x—8y+9=0 have n
common tangents and the length of the tangent drawn from the centre of similitude to

the circle C» 1s / then k =

%

n

Options :



lud
flm]

I
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If the common chord of the circles x* +y* +4y =0 and x* + " —4x—5=0 is the diameter
of the circle S=0 then the abscissa of the centre of the circle S=0 1s

Options :
—-13
8
1. %
3
8
2.
3
4
3. %
=13
4
4. %
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Correct Marks : 1 Wrong Marks : 0

If y* =16x is the given parabola. then the point of intersection of the focal chord
through the point (2,2) and the double ordinate of length 24 is

Options :

(3.1)

1. %

(9,-5)
2.9

(9.3)
3. %

(8,—4)
4. %

Question Number : 57 Question Id : 10561557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

py!=16x. If P = (4. 8) and

o

Let PQ and RT be two focal chords of the parabola
R=(16. 16) then QT =

Options :

5
1. v

45
2. 8%
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. : . R 5 3

If the eccentricity and the length of the latus rectum of an ellipse _"+;b_’:l are {
a 5 L

and 1 respectively, then the sum of the lengths of major axis and minor axis of the

ellipse 1s

Options :

6
1.

3
2. ®

10
3. %

8
4 %
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The parametric equations of the ellipse whose foci are(-3,0), (9,0) and eccentricity is

1
—; dFC
3

Options :



x=3+1242c0s6.y=18sin 8

1. %
x=3+18cosf. y=12+/2sin 8

2.¢
r:18cost9._1':3+12«ﬁsin€

3. %
x=3+4ﬁc059.]'=185m§

4.%
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- =1 (kis areal number) represents a hyperbola, then the set of all values

1.



33
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4. %

Let A (6,) and B (#,) be two points on the hyperbola x
a

of the hyperbola. If A, S, B are collinear and a cos[%} =k CGS{% ] then k=

—%2 =1 and S be the focus

Options :

2.9

at—h
3, %

a+b
4, ®
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Let A(L 2.3).B(-L 4.6).C(0. -6, 4) and D(L, 1, 1) be the vertices of a tetrahedron.
G be 1ts centroid and G; be the centroid of its face BCD. Then f:ii‘ =
T

Options :



| Ln

1. %
4
3
2.
7
6
3. %
3
4
4. %
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If a line L 1s common to the planes x— y+z+2=0 and 2x+ y—2z+5=0 then the
direction cosines of the line L are

Options :
1 4 3 J
J26 26 26
1. ¥
1 2%
37373
2. &

t-
=



=1
=

J0
6

v | h
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Let the foot of the perpendicular drawn from the point (1, 2, 3) to a plane be (-1, 3, —2).
Then the perpendicular distance from the origin to the plane 1s

Options :
5
/30
1.
15
2
2.
2
15
3. %
1
NE)
4, %
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L =82 —dx+12
lim —; - =
=3 2x" =Tx " +2x+3

Options :

0



oo

2. %

=2

14
3.

13
4. %
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2
im g% _ot 0 wusdy
x—0 x'z
Options :

2+1log2

1. ®

2 + (log 2)*
2. ¢

2 + (log 4)°
3. %

2+log4
4. %
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x*—16
If f(x]{xd, if x >4 then _f‘F(4_]+f'(4'] =

2 ifx<4

Options :

1
], %

2
2. %

3
3.9

4
4. %
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_then the value of ﬂ atx=1.18
dx

If f(x)=log, eg-‘( =

S
H
3 | L

Options :
b
1. ®
&
.
2. ®
11
4



| 5

4.
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) 2 % 'I»"2 +4
If x=cosec —sinf, y =cosec”® @—sin’” @ and [d—}J =M where ke R,
dx g(x)

then 10+ k- g(2022)=

Options :

0
1. ®

6
2.9

10
3. ®

14
4, ®
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The area of the triangle formed by the tangent and the normal drawn to the curve
y* =4x at (1, 2) with Y-axis is (in square units)

Options :

4



[F¥]

-2
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pr |
» . o 2 i 4 Vo ..
Consider two families of curves y” =4ax (a 1s a parameter) and x B =c? (cis

parameter). If one curve from each family 1s chosen, then the angle between those two
curves 1s

Options :
T
1. ®
T
4
2. 8
3r
4
3. %
T
2
4.
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Let a function f(x) be continuous in an interval [a. b]. Let & >0 be a very small real
number. Let ce(a, b) be such that f(c—0)< f(c) and f(c+8)< f(c) for every
0>0.Let (fla—8)—-f@)f(a+8)—f(a)) <0 Vae(a.b) and a¢=c. Then

Options :

f(x) has a local maximum at ¢ and a local minimum at «

1. %
Jf(x) has a local maximum at & and a local minimum at ¢
2. %
f(x) has only one local maximum at ¢
3.¥
f(x) has only one local minimum at ¢
4.%

Question Number : 73 Question Id : 10561573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 2
Let _f'(x):jlr 3% HA%5 G and f(i)=1. Then £(5)=

X

Options :

10 +4log 5

10— 4log5

hn

9+4log

3.¢¥



9—-41log5
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2

dx =

T it rensy X =2x%+1
If x>0 and x#(2n+1) — then J‘ i — R ), o -
2 =2

Options :

1
xJx —secx+3x—2logx——+c¢

X
1. ®
2 5 2 1
—x"ax—seCx+3x+———+C
5 X X
2. %
21 |
x«,/x_‘—secx+3x+—,——+c
X X
3. %
2 1
Zx2fx —secx+3x—2logx——+c
5 X
4.
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j(?.x—B]«./f’-.x‘+2 dx =

Options :



.
_Z (54x% —123x+106)\3x+2 +¢

135
1. ®
2
13%3(54x2 +123x—106)\3x+2 +c¢
2. %
2
= (54x% —123x—106)\3x +2 +¢
i
3.
2
1:_ (54x* —195x—106)33x+2 +¢
2
4, ®
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-

1

4 1 2log2
[{x—i— x+—de— dx =

X

—

Options :
79
6
1.«
643
6
2. ®
321
3
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w4 ., i i .
s A j- é(—j +log[ﬂ]]a’x. Given that
Ealeeslz\x 4—smx
dx 1 g B —— T :
———=—Tan kx)+c., Tan " (0)=0 andTan 3 j=—.Then 3F =
e Jk (v (©) (¥3)=3

Options :

4
1. %

9
2. %

16
3. %

|
4. %
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The differential equation of the family of circles with fixed radius » units and centre on
the line y =3, i1s

Options :



1.¢
1+[“’-"J': r
dx y=3
2. %
(]2
dx) (3 —?]2
3. %
)
dx ¥ —3
4, %

Question Number : 79 Question Id : 10561579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 \U3 5 £33
: : . dy o d7y dy
The degree of the differential equation x| —5 | +2x°| —5 | +7——+y=0
dx” dx dx
Options :
15
1. ®
5
2.
12
3%
3

4.%
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The curve that satisfies the differential equation xydy —[I +y )dx =( passes through

| ; ; 26
(1.0) and intersects the curve x~ + 3y~ =3 at an angle 6. Then — =
T

Options :

2
1. %

0
2. %

4
3. %

1
4.
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